
Year 5 Homework A – 1st March 2024

Multiplication

Reasoning

Place Value

6 x 6 = .

4 x 6 = .

12 x 6 = .

2 x 6 = .

10 x 9 = .

12 x 9 = .

1 x 9 = .

7 x 9 = .

108 ÷ 9 = .

42 ÷ 6 = .

32 ÷ 32 = .

67 ÷ 1 = .

Fractions

Remember to also have a go at TTRS, Spelling Shed and Lexia (if you 
have it)! All links are on the class page.

Forgotten your login? Let me know!Time

Complete the table:

Two children are running for charity.

How far did they both run?

Work out these calculations and write the 
answer as an improper fraction:

Use the sheet on the Homework Page to remind 
you of the steps. 

Convert the times between a 12-hour 
clock and a 24-hour clock.
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